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An optimal  solution is 
u(0) = 0, 21(1) = - 242) = 1. 

I t  is impossible to  find a nonzero  vector 
(p1, p 2 ~  for  which  the  Hamiltonian 

H = plU(ij + p, I ~ ( i )  I 
is either locally  maximum  or  stationary  for 
that  optimal  solution. 
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Correction to and Extension of 
'(On the  a priori Information in 
Sequential  Estimation  Problems" 

CORRECTIOX 

Dr. \V. G. Tuel,  Jr., of t h e   I B N  Re- 
search  Division,  San  Jose,  Calif.,  has  brought 
to  the  author's  attention a typographical 
error in equation (22)  of reference [ l ] .   The  
inverse  sign  should  be  omitted  there.  Thus 
the  correct  form  should  read: 

E,,(k + 1) (Q - KOJi) 

EXTEXSfON 

\\-hen the process is discrete, the obser- 
vation noise can  be  treated as components 
of the  state  vector I, as was  done  in  reference 
[2], as well as in [l]. However, if the obser- 
vation noise sr is white  and  uncorrelated  with 
the process  noise m, a reduction of the  order 
of matrices  and a considerable  simplification 
of computations  become  possible  by  imple- 
menting r in the  observation  equation. Thus  
the  process  and  observation  equations  are 
described: 

x ( k  + 1) = @(R)+(k)  + G(k)w(K)  (1) 
y ( k )  = M ( k ) s ( k )  + ?(k) (2') 

( o ( k ) )  = 0 (h-1) 

= o  for j # k (-3-2) 
l ,P( j )m(K)T,  = 0. (X-3) 

where 

( z ( i ) o ( k ) T )  = X ( k )  for j = k 

The  same  symbols as those  in  reference 
[I]  are  employed  for  the  other  quantities 
such as x, v, m, a, G, and  AI, keeping  in  mind 
that  their  dimensions  are  reduced  accord- 
ingly by  the dimension of the  vector v. 

Then (13)  is  modified as 

P,(k + 1) = (0 - KCL1fjPC(k)(Q - KJ1)T 
+ KcRKcT + GQGT (13') 

where 
K c @ )  =oP,(k)~~~T(~JfPc(K).~fT+R(K))-l. (14') 

Also (17) becomes 
Pa(k + 1) = (a - KCN)Pa(k) (Q - K c W T  

+ K,RKcT + GQG'. (17') 

Therefore  (18)  remains  in  the  identical  form 


